Proposed NU Business Name: SAJEEB FASHION



Project identification and prepared by: Atikur Rahman Elenga Unit, Tangail

Project verified by: Md. Mizanur Rahman Patwary



Samajik Byabosha Ltd.

Brief Bio of The Proposed Nobin Udyokta			
Name	:	KRISNA SHAHA	
Age	:	13-02-1984 (31 Years)	
Education, till to date	:	Class Nine	
Marital status	:	Married	
Children	:	Nil	
No. of siblings:	:	2 Brother & 1 Sister	
Address	:	Vill: Kalihati P.O: Kalihati, P.S: Kalihati , Dist: Tangail	
Parent's and GB related Info (i) Who is GB member (ii) Mother's name (iii) Father's name (iv) GB member's info	: : :	Mother Father LATE. DULALI SAHA BOLRAM SAHA Branch: Elenga Kalihati, Centre # 82 (Female), Member ID: 6963, Group No: 04 Member since: 22-11-1993 (22 Years) First loan: BDT 2,500/-	
Further Information: (v) Who pays GB loan installment (vi) Mobile lady (vii) Grameen Education Loan	:	Outstanding loan: Nil Father No No	
(viii) Any other loan like GB, BRAC ASA etc	:	No	

BRIEF BIO OF THE PROPOSED NOBIN UDYOKTA (CONT...)

Present Occupation(Besides own business, i.e., persuading further studies, other business etc.)		Nil
Business Experiences and		Eight years experience in running business.
Training Info	:	He has no training
Other Own/Family Sources of Income	:	None
Other Own/Family Sources of Liabilities	:	Nil
Entrepreneur Contact No.	:	01712-197181
Mother's Contact No.	•	Nil
NU Project Source/Reference	:	Grameen Shakti Samajik Byabosha Ltd. Elenga Unit, Dhaka

BRIEF HISTORY OF GB LOAN UTILIZATION BY HIS FAMILY

LATE. DULALI SAHA joined Grameen Bank since 22 years ago. At first she took 2500-taka loan from Grameen Bank. She gradually took loan from GB. Utilize loan in home development & business.

Proposed Nobin Udyokta Business Info				
Business Name	:	SAJEEB FASHION		
Location	:	Kalihati, Hospital road, Tangail		
Total Investment in BDT	:	BDT 2,35,000/-		
Financing	:	Self BDT 1,35,000/- (from existing business) 57% Required Investment BDT 1,00,000/- (as equity) 43%		
Present salary/drawings from business (estimates)	:	BDT 5,000		
Proposed Salary	:	BDT 5,000		
Size of shop	:	10 ft x 07 ft= 70 square ft		
Security of the shop	:	BDT 1,80,000/-		
Implementation	:	 The business is planned to be scaled up by investment in existing goods like; Shirt, Pant, Jacket, Punjabi, Sweater, Kids cloths etc. Average 20% gain on sale. The business is operating by entrepreneur. Existing no employee. The shop is rented. Collects goods from Dhaka, Tangail. Agreed grace period is 4 months. 		

Existing Business (BDT)				
Particular	Daily	Monthly	Yearly	
Revenue (sales)				
Cloths	2,250	67,500	810,000	
Total Sales (A)	2,250	67,500	810,000	
Less. Variable Expense				
Cloths	1,800	54,000	648,000	
Total variable Expense (B)	1,800	54,000	648,000	
Contribution Margin (CM) [C=(A-B)	450	13,500	162,000	
Less. Fixed Expense				
Rent		1,500	18,000	
Electricity Bill		300	3,600	
Mobile Bill		300	3,600	
Salary (self)		5,000	60,000	
Transportation		500	6,000	
Entertainment		300	3,600	
Total fixed Cost (D)		7,900	94,800	
Net Profit (E) [C-D)		5,600	67,200	

Investment Breakdown				
Particulars	Proposed	Proposed Total		
Shirt (60 x 450)	27,000	10,000	37,000	
Pant (80 x 500)	40,000	20,000	60,000	
Jacket (15 x 600)	9,000	15,000	24,000	
Blazer (1 x 1000)	1,000	10,000	11,000	
Frock (50 x 350)	17,500	5,000	22,500	
T-shirt	5,000	8,000	13,000	
Punjabi (25 x 550)	13,750	-	13,750	
Sweater (30 x 300)	9,000	20,000	29,000	
Baby set, Kids Cloths	12,750	12,000	24,750	
Total	135,000	100,000	235,000	

Source of Finance



Financial Projection (BDT)					
Particular	Daily	Monthly	1st Year	2nd Year	
Revenue (sales)					
Cloths	3,250	97,500	1,170,000	1,228,500	
Total Sales (A)	3,250	97,500	1,170,000	1,228,500	
Less. Variable Expense					
Cloths	2,600	78,000	936,000	982,800	
Total variable Expense (B)	2,600	78,000	936,000	982,800	
Contribution Margin (CM) [C=(A-B)	650	19,500	234,000	245,700	
Less. Fixed Expense					
Rent		1,500	18,000	18,000	
Electricity Bill		300	3,600	4,000	
Mobile Bill		400	4,800	5,500	
Salary (self)		5,000	60,000	60,000	
Transportation		800	9,600	11,500	
Entertainment		300	3,600	4,000	
Total Fixed Cost		8,300	99,600	103,000	
Net Profit (E) [C-D)		11,200	134,400	142,700	
Investment Payback			60,000	60,000	

Cash flow projection on business plan (rec. & Pay)

SI#	Particulars	Year 1 (BDT)	Year 2 (BDT)
1	Cash Inflow		
1.1	Investment Infusion by Investor	100,000	
1.2	Net Profit	134,400	142,700
1.3	Depreciation (Non cash item)		-
1.4	Opening Balance of Cash Surplus		74,400
	Total Cash Inflow	234,400	217,100
2	Cash Outflow		
2.1	Purchase of Product	100,000	
2.2	Payment of GB Loan		
	Investment Pay Back (Including Ownership		
2.3	Tr. Fee)	60,000	60,000
	Total Cash Outflow	160,000	60,000
3	Net Cash Surplus	74,400	157,100

SWOT ANALYSIS

Strength

Employment: Self: 01 Family:0

Others:0, Experience & Skill: 08 Years

Quality goods & services;

Skill and experience;

WEAKNESS

Lack of Capital/Investment

OPPORTUNITIES

Huge demand in the community Location of shop; Regular customers;

THREATS

Theft

Fire

Political unrest

Pictures



















গণপ্রজাতন্ত্রী বাংলাদেশ সরকার Commission of the People's Republic of Dangladesh NATIONAL ID CAID / WINE HERE HE



नाम: कृष्ण मार्थ Name: KRISNA SHAHA

শিকা বদায়ে দায়

भाषाः पृष्ठ प्रमानी शमी भाषा Date of Birth: 13 Feb 1984

ID NO: 9324701220711

को काशी कालकार्की सामग्राम सरकारक मन्ति। बाग्नी सामग्राकारी स्त्रीय कन CHOOSE WHILE CHOSE RIVERY CHIEF REFER MAN CHIEF MAN RATE WITH Date statem offered, offered, worse offered . 1540, offered ्नावमस, नर्गफाडी, डालाईम

SCOPE DIT / Blood Group: Av



MHICHE WITH UN ON A CODE

াগ্রামীণ বাাংক খিলদা কালিহাতী শাপথা ঘাটাইল এরিয়া টাংগাইল যোন





क्ष्मान प्रदेशकात कवि क

শন্তকেন ধহীতা ও শরিষ্টলাকারীয়দের শনিংগুলার

পরীচ্চেন পরিচাগনাকরী-১



HIN & | 55775 + 5012 F प्रदीकाव मार्च मन्त्रकं । हिन्द लहीएकान प्रदेशका

अकेलार नाम । अक्रमाना निकास प निकामित गाम है ज्योतना मा करी सम्बर्ध के के के क भूमा स्था । ०० व्यवस्था । १ वर्ष אלמטוחיום שור ו ישרי (ריבעילה www.mins

नहीरमध नीवाममाकवी-३



חוב ברצי ויון (אין ייין אום אפופום אווע אייאס ז רבוןף.

नाना गागकाग পালীগ নামক লা কাল্যাতী বাব वारमाक्रम ।

ale alper - 55/00/05;

FAMILY PICTURE

